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Multiple Choice Questions Level I

1. Which of the following is a statement.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VHgIGUEsiNSN


A. x is a real number

B. Switch off the fan

C. 6 is a natural number

D. Let me go

Answer: C

Watch Video Solution

2. Which of the following is a statement ?

A. Roses are black

https://dl.doubtnut.com/l/_VHgIGUEsiNSN
https://dl.doubtnut.com/l/_QSjHNwGGUx7Z


B. Mind your own business

C. Be punctual

D. Do not tell lies

Answer: A

Watch Video Solution

3. Which of the following is not a statement :

A. Smoking is injurious to health

B. 2 + 2 = 4

https://dl.doubtnut.com/l/_QSjHNwGGUx7Z
https://dl.doubtnut.com/l/_npx9nbPCGFWm


C. 2 is the only even prime number

D. Come here

Answer: D

Watch Video Solution

4. The connective in the statement

 is

A. and

B. or

2 + 7 > 9 or 2 + 7 < 9

https://dl.doubtnut.com/l/_npx9nbPCGFWm
https://dl.doubtnut.com/l/_qnrYe6mf3XVK


C. 

D. 

Answer: B

Watch Video Solution

>

<

5. The connective in the statement ''Earth

revolves round the Sum and Moon is a

satellite of earth '' is

A. or

https://dl.doubtnut.com/l/_qnrYe6mf3XVK
https://dl.doubtnut.com/l/_VG3nHMcmFw4s


B. Earth

C. Sun

D. and

Answer: D

Watch Video Solution

6. The negation of the statement “A circle is an

ellipse” is -

A. An ellipse is a circle

https://dl.doubtnut.com/l/_VG3nHMcmFw4s
https://dl.doubtnut.com/l/_jCLorH4GR1uu


B. An ellipse is not a circle

C. A circle is not an ellipse

D. A circle is an ellipse

Answer: C

Watch Video Solution

7. The negation of the statement ''it is raining

and weather is cold'' is

A. It is not raining and weather is cold

https://dl.doubtnut.com/l/_jCLorH4GR1uu
https://dl.doubtnut.com/l/_I0qJW5hGU7Rm


B. It is raining or weather is not cold

C. It is not raining or weather is not cold

D. It is not raining and weather is not cold

Answer: C

Watch Video Solution

8. The negative of the statement ''7 is greater

than 8'' is

A. 7 is equal to 8

https://dl.doubtnut.com/l/_I0qJW5hGU7Rm
https://dl.doubtnut.com/l/_oDoiCqiUl78t


B. 7 is not greater than 8

C. 8 is less than 7

D. none of these

Answer: B

Watch Video Solution

9. The negation of the statement ''72 is

divisble by 2 and 3'' is

https://dl.doubtnut.com/l/_oDoiCqiUl78t
https://dl.doubtnut.com/l/_lxRTbqi3G4sR


A. 72 is not divisible by 2 or 72 is not

divisible by 3

B. 72 is not divisible by 2 and 72 is not

divisible by 3

C. 72 is divisible by 2 and 72 is not divisible

by 3

D. 72 is not divisible by 2 and 72 is divisible

by 3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lxRTbqi3G4sR


10. The negation of the statement ''Plants take

in  and given out  and give out '' is

A. Plants do not take in  and do not

give out 

B. Plants do not take in  or do not give

out 

C. Plants take in  and do not give out 

D. Plants take in  or do not give out 

CO2 O2 O2

CO2

O2

CO2

O2

CO2

O2

CO2 O2

https://dl.doubtnut.com/l/_lxRTbqi3G4sR
https://dl.doubtnut.com/l/_8RaXnrEYUXX3


Answer: B

Watch Video Solution

11. The negative of the statement ''Rajesh or

Rajni lived in Bengaluru'' is

A. Rajesh did not live in Bangalore or Rajni

lives in Bangalore

B. Rajesh lives in Bangalore and Rajni did

not live in Bangalore

https://dl.doubtnut.com/l/_8RaXnrEYUXX3
https://dl.doubtnut.com/l/_Kgjz6QB86cjk


C. Rajesh did not live in Bangalore and

Rajni did not live in Bangalore

D. Rajesh did not live in Bangalore or Rajni

did not live in Bangalore

Answer: C

Watch Video Solution

12. The negation of the statement ''101 is not

mulitple of 3'' is

https://dl.doubtnut.com/l/_Kgjz6QB86cjk
https://dl.doubtnut.com/l/_TvmOQKRYK07F


A. 101 is a multiple of 3

B. 101 is a multiple of 2

C. 101 is an odd number

D. 101 is an even number

Answer: A

Watch Video Solution

13. The contrapositive of the statement : 

''If 7 is greater than 5, then 8 is greater than 6''

is :

https://dl.doubtnut.com/l/_TvmOQKRYK07F
https://dl.doubtnut.com/l/_tpTWbHhXy1m9


A. If 8 is greater than 6, then 7 is greater

than 5

B. If 8 is not greater than 6, then 7 is

greater than 5

C. If 8 is not greater than 6, then 7 is not

greater than 5

D. If 8 is greater than 6, then 7 is not

greater than 5

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tpTWbHhXy1m9


14. The converse of the statement ''If ,

then '' is

A. If , then 

B. If , then 

C. If , then 

D. If , then 

Answer: B

Watch Video Solution

x > y

x + a > y + a

x < y x + a < y + a

x + a > y + a x > y

x < y x + a > y + a

x > y x + a < y + a

https://dl.doubtnut.com/l/_tpTWbHhXy1m9
https://dl.doubtnut.com/l/_k8EptNlUyNbF


15. The converse of the statement ''If sum is

not shining, then sky is filled with clouds '' is

A. If sky is filled with clouds, then the sun is

not shining

B. If sun is shining, then sky is filled with

clouds

C. If sky is clear, then sun is shining

D. If sun is not shining, then sky is not filled

with clouds.

https://dl.doubtnut.com/l/_xuPYwlEf88Zp


Answer: A

Watch Video Solution

16. Which of the following is the converse of

the statement : ''If Billu secures good marks,

then he will get a bicycle''.

A. If Billu will not get a bicycle, then he will

not secure good marks

B. If Billu will get a bicycle, then he will

secure good marks

https://dl.doubtnut.com/l/_xuPYwlEf88Zp
https://dl.doubtnut.com/l/_iUyJBt1JOAQy


C. If Billu will get a bicycle, then he will not

secure good marks

D. If Billu will not get a bicycle, then he will

secure good marks

Answer: B

Watch Video Solution

17. The contrapositive of the statement ''Ii p,

them '', is

https://dl.doubtnut.com/l/_iUyJBt1JOAQy
https://dl.doubtnut.com/l/_H2uF0GZBTWUp


A. If q, then p

B. If p, then 

C. If , then 

D. If , then 

Answer: C

Watch Video Solution

~p

~q ~p

~p ~q

18. The statement ''If  is not even, then x is

not even'' is coverse of the statement

x2

https://dl.doubtnut.com/l/_H2uF0GZBTWUp
https://dl.doubtnut.com/l/_s8MApB62oH7L


A. If  is odd, then x is even

B. If x is not even, then  is not even

C. If x is even, then  is even

D. If x is odd, then  is even

Answer: B

Watch Video Solution

x2

x2

x2

x2

19. The contrapositive of statement 'If

Chandigarh is capital of Punjab , them

chandigarh is in India is

https://dl.doubtnut.com/l/_s8MApB62oH7L
https://dl.doubtnut.com/l/_2f1alcVw6wNi


A. If Chandigarh is not in India, then

Chandigarh is not the capital of Punjab

B. If Chandigarh is in India, Chandigarh is

capital of Punjab

C. If Chandigarh is not capital of Punjab,

then Chandigarh is not capital of India

D. If Chandigarh is capital of Punjab, then

Chandigarh is not in India

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2f1alcVw6wNi


20. Which of the following is the conditional

?

A. q is sufficient for p

B. p is necessary for q

C. p only if q

D. if q, then p

Answer: C

Watch Video Solution

p → q

https://dl.doubtnut.com/l/_2f1alcVw6wNi
https://dl.doubtnut.com/l/_lGXmZFts7el0


21. The negative of the statement ''The

product of 3 and 4 is 9'' is

A. It is false that the product of 3 and 4 is 9

B. The product of 3 and 4 is 12

C. The product of 3 and 4 is not 12

D. It is false that the product of 3 and 4 is

not 9

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_m9mieknsTLml


22. Write the negation of "Every natural

number is greater than zero".

A. A natural number is not greater than

zero

B. If is false that a natural number is

greater than zero

C. If is false that a natural number is not

greater than zero

D. None of the above

https://dl.doubtnut.com/l/_m9mieknsTLml
https://dl.doubtnut.com/l/_kIZHS3o4528c


Answer: C

Watch Video Solution

23. Which of the following statement is a

conjuction?

A. Ram and Shyam are friends

B. Both Ram and Shyam are tall

C. Both Ram and Shyam are enemies

D. None of the above

https://dl.doubtnut.com/l/_kIZHS3o4528c
https://dl.doubtnut.com/l/_9OfZYKhqTrj9


Answer: D

Watch Video Solution

24. If p and q be two statement, then the

conditional statement  is false, when :

A. p is true and q is true

B. p is false and q is true

C. p is true and q is false

D. none of these

p → q

https://dl.doubtnut.com/l/_9OfZYKhqTrj9
https://dl.doubtnut.com/l/_uesQq0mGlFYB


Answer: C

Watch Video Solution

25. If p and q be two statement, then the

Bioconditional statement  is true only

when :

A. p is true and q is false

B. p is false and q is true

C. p and q are both true or both false

D. none of these

p ⇔ q

https://dl.doubtnut.com/l/_uesQq0mGlFYB
https://dl.doubtnut.com/l/_x294lyNMbJvy


Answer: C

Watch Video Solution

26. If p : Sham is honest, q : Sham will pass,

then the statement 'either Sham is honest or

he will pass', is written in symbols as :

A. 

B. 

C. 

D. none of these

p ∧ q

p ∧ ~q

p ∨ q

https://dl.doubtnut.com/l/_x294lyNMbJvy
https://dl.doubtnut.com/l/_ZQco2yxjcL7a


Answer: C

Watch Video Solution

27. Which of the following statements are true

statements :

A. Moon is a heavenly body

B. 

C. Today is Monday

D. Is Sham a honest boy ?

7 × 5 + 4 = 40

https://dl.doubtnut.com/l/_ZQco2yxjcL7a
https://dl.doubtnut.com/l/_jVhLRSRwbqZq


Answer: A

Watch Video Solution

28. 

A. 

B. 

C. 

D. none of these

Answer: C

~(p ∧ q) =

~p ∧ q

~p ∧ ~q

~p ∨ ~q

https://dl.doubtnut.com/l/_jVhLRSRwbqZq
https://dl.doubtnut.com/l/_n1zQ1qPqB8F8


Watch Video Solution

29.  is equal to-

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

~(p ∨ q)

~p ∧ q

~p ∨ ~q

~p ∧ ~q

https://dl.doubtnut.com/l/_n1zQ1qPqB8F8
https://dl.doubtnut.com/l/_wmyG2T3jHSaa


30. The simplified form of 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(p ∧ q) ∨ (p ∧ r) =

p ∨ (q ∧ r)

p ∧ (q ∨ r)

(p ∨ q) ∧ r

https://dl.doubtnut.com/l/_wmyG2T3jHSaa
https://dl.doubtnut.com/l/_PqB7rGBDUYKi


31. 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(p ∨ r) ∧ (q ∨ r) =

p ∨ (q ∧ r)

p ∧ (q ∨ r)

(p ∧ q) ∨ r

https://dl.doubtnut.com/l/_3JM6rU1aoCAS


32. 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

p → q =

(~p) ∨ q

p ∧ (~q)

~p ∨ ~q

https://dl.doubtnut.com/l/_2xdeAhkfyXJF


Multiple Choice Questions Level Ii

33. 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

~(p → q) =

(~p) ∨ q

~p ∧ (~q)

p ∧ (~q)

https://dl.doubtnut.com/l/_trKHjtq5ITpr


1. If p : 'Sham is honest', q : 'Sham will pass',

then the statement ''It is not true that Sham is

not honest or will not pass'', is written in

symbols as :

A. 

B. 

C. 

D. none of these

Answer: C

p ∧ ~q

~p ∧ q

~(~p ∨ ~q)

https://dl.doubtnut.com/l/_MYi4MQNdHLuh


Watch Video Solution

2. If p and q stand for the following

statements p : Monsoon is very good this year,

q : The rivers are rising. 

The statement 

''Neither the monsoon is very good this year

nor the rivers are rising'', can be written in

symbols as :

A. 

B. 

p ∧ ~q

~p ∧ ~q

https://dl.doubtnut.com/l/_MYi4MQNdHLuh
https://dl.doubtnut.com/l/_TwfVaVC7p0qT


C. 

D. 

Answer: B

Watch Video Solution

p ∨ q

~p ∨ q

3. If the statement be p : It is raining, q : It is

pleasant, then the statement : 

''It is either raining or not raining and

pleasant, can be expressed in symbols as :

https://dl.doubtnut.com/l/_TwfVaVC7p0qT
https://dl.doubtnut.com/l/_5Ha852Z1tbFz


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

~(~p ∨ ~q)

p ∨ ~p ∧ q

~p ∧ ~q

4. If the statement be p : It is raining, q : It is

pleasant, then the statement : 

https://dl.doubtnut.com/l/_5Ha852Z1tbFz
https://dl.doubtnut.com/l/_2nkyoKZ5NaFa


''It is neither raining nor pleasant' can be

expressed in symbols as :

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

p ∨ ~q ∧ q

~p ∧ ~q

p → q

https://dl.doubtnut.com/l/_2nkyoKZ5NaFa


5. The simplified form of 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(p ∧ q) ∨ (p ∧ r) =

p ∨ (q ∧ r)

p ∧ (q ∨ r)

(p ∨ q) ∧ r

https://dl.doubtnut.com/l/_yuzmH54R0Qno


6. Construct the truth table for the statement

pattern . Interpret the result.

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

(p ∨ q) ∧ (p ∨ r)

p ∨ (q ∧ r)

p ∧ (q ∨ r)

(p ∨ q) ∧ r

https://dl.doubtnut.com/l/_UK8Aa3soCQwP
https://dl.doubtnut.com/l/_w2bJUaAPS44j


7. If p and q are two logical statements, then

 is equivalent to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

p ⇒ (q ⇒ p)

p → (p ⇔ q)

p → (p → q)

p → (p ∨ q)

p → (p ∧ q)

https://dl.doubtnut.com/l/_w2bJUaAPS44j


Latest Questions From Aieee Jee Examinations

1. Let S be a non-empty subset of R. Consider

the following statement:
P: There is a rational

number 
such that 
 .
Which of the

following statements is the negation of the

statement P ?
 There is no rational number


 such that 
 (9)
 Every rational

number 
 satisfies 
 (18) 
 and 


 (27) is not
 rational
 There is a

rational number 
such that 
(36)

x ∈ S x > 0

x ∈ S x ≤ 0

x ∈ S x ≤ 0 x ∈ S

x ≤ 0 ⇒ x

x ∈ S x ≤ 0

https://dl.doubtnut.com/l/_VnWOL83S6iiI


A. There is a rational number  such

that 

B. There is no rational number  such

that 

C. Every rational number  satisfies 

D.  and  is not rational

Answer: C

Watch Video Solution

x ∈ S

x ≤ 0

x ∈ S

x ≤ 0

x ∈ S

x ≤ 0

x ∈ S x ≤ 0 ⇒ x

https://dl.doubtnut.com/l/_VnWOL83S6iiI
https://dl.doubtnut.com/l/_mCGRddkJWado


2. Consider the following statements 

P: Suman is brilliant 

Q: Suman is rich 

R: Suman is honest 

The negation of the statement "Suman is

brilliant and dishonest if any only if Suman is

rich" can be expressed as

A. 

B. 

C. 

D. 

~P ∧ (Q ⇔ ~R)

~(Q ⇔ (P ∧ ~R))

~Q ⇔ ~P ∧ R

~(P ∧ ~R) ⇔ Q

https://dl.doubtnut.com/l/_mCGRddkJWado


Answer: B

Watch Video Solution

3. The only statement among the following

that is a tautology is

A. 

B. 

C. 

D. 

A ∧ (A ∨ B)

A ∨ (A ∧ B)

[A ∧ (A → B)] → B

B → [A ∧ (A → B)]

https://dl.doubtnut.com/l/_mCGRddkJWado
https://dl.doubtnut.com/l/_9HfZL7dpwAN0


Answer: C

Watch Video Solution

4. The negation of the statement 

"If I becomes a teacher, then I will open a

school", is

A. I will become a teacher and I will not

open a school

B. Either I will not become a teacher or I

will not open a school

https://dl.doubtnut.com/l/_9HfZL7dpwAN0
https://dl.doubtnut.com/l/_ICCumHvznH8I


C. Neither I will become a teacher nor I will

open a school

D. I will not become a teacher or I will open

a school

Answer: A

Watch Video Solution

5. The statement  is

A. equivalent to 

~(p ↔ ~q)

~p ⇔ q

https://dl.doubtnut.com/l/_ICCumHvznH8I
https://dl.doubtnut.com/l/_FbJKornXZkHY


B. a tautology

C. a fallacy

D. equivalent to 

Answer: D

Watch Video Solution

p ⇔ q

6. The negation of  is equivalent

to

A. 

~s ∨ (~r ∧ s)

s ∧ ~r

https://dl.doubtnut.com/l/_FbJKornXZkHY
https://dl.doubtnut.com/l/_blb8PpOIB7kN


Questions From Karnataka Cet Comed

B. 

C. 

D. 

Answer: D

Watch Video Solution

s ∧ (r ∧ ~s)

s ∨ (r ∨ ~s)

s ∧ r

1. If  is false, then the truth values

of p,q,r are respectively

p → (q ∨ r)

https://dl.doubtnut.com/l/_blb8PpOIB7kN
https://dl.doubtnut.com/l/_y4ThojUKEfEC


A. T, F, F

B. F, F, T

C. F, T, T

D. T, T, F

Answer: A

Watch Video Solution

2. The logically equvalent proposition of

 isp ↔ q

https://dl.doubtnut.com/l/_y4ThojUKEfEC
https://dl.doubtnut.com/l/_qNapJuNOgKnD


A. 

B. (p

C. 

D. 

Answer: B

Watch Video Solution

(p ∧ q) ∨ (p ∧ q)

⇒ q) ∧ (q ⇒ q)

(p ∧ q) ∨ (q ⇒ p)

(p ∧ q) ⇒ (p ∨ q)

3. Let p be the proposition that Mathematics

is interesting and q be the proposition that

https://dl.doubtnut.com/l/_qNapJuNOgKnD
https://dl.doubtnut.com/l/_6BnG67FeRlQ6


Mathematics is difficult, then the symbol 

means

A. Mathematics is interesting implies that

Mathematics is difficult

B. Mathematics is interesting implies and is

implied by Mathematics is difficult

C. Mathematics is interesting and

Mathematics is difficult

D. Mathematics is interesting or

Mathematics is difficult

p ∧ q

https://dl.doubtnut.com/l/_6BnG67FeRlQ6


Answer: C

Watch Video Solution

4. The false statement in the following is

A.  is a contradiction

B. (p  is a

contradiction

C.  is a tautology

D.  is a tautology

p ∧ (~p)

⇒ q) ⇔ (~q ⇒ ~p)

~(~p) ⇔ p

p ∨ (~p)

https://dl.doubtnut.com/l/_6BnG67FeRlQ6
https://dl.doubtnut.com/l/_hnzq1LfQeuRg


Answer: B

Watch Video Solution

5. If  is false, then the truth

values of p and q are respectively

A. F, T

B. F, F

C. T, T

D. T, F

p → (~p ∨ q)

https://dl.doubtnut.com/l/_hnzq1LfQeuRg
https://dl.doubtnut.com/l/_BpScK6lkRjQa


Answer: D

Watch Video Solution

6. Which of the following is not a proposition ?

A.  is a prime

B.  is a prime

C. Mathematics is interesting

D. 5 is an even integer

Answer: C

√3

√2

https://dl.doubtnut.com/l/_BpScK6lkRjQa
https://dl.doubtnut.com/l/_O1d0bG9bxKRF


Watch Video Solution

7.  is :

A. tautology

B. a contradiction

C. both a tautology and a contradiction

D. neither a tautology nor a contradiction

Answer: B

Watch Video Solution

(p ∧ ~q) ∨ (~p ∧ q)

https://dl.doubtnut.com/l/_O1d0bG9bxKRF
https://dl.doubtnut.com/l/_eSHiaEjKZgK3


8. Which of the following is not a correct

statement?

A.  is a prime

B. The sun is a star

C. Mathematics is interesting

D.  is irrational

Answer: A

Watch Video Solution

√3

√2

https://dl.doubtnut.com/l/_eSHiaEjKZgK3
https://dl.doubtnut.com/l/_J3psNAS29yoP
https://dl.doubtnut.com/l/_G8xD8BIK5b06


9.  is logically equivalent to :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

~[(~p) ∧ q]

p ∨ (~q)

p ∧ (~q)

~[p ∧ (~q)]

~(p ∨ q)

https://dl.doubtnut.com/l/_G8xD8BIK5b06

